Sl Re 05 i iR BB E B8

B RXAE

(A E] [ [

. Bl THE .o | ORI B4
TR HE Hin A

BPY81 NN L] GCr15 | sUJ2 | 7<fRi2IE(S45C)
Bpvss |BHEE | WABI B MCREG: ey susaaoc NFIZIE(SUS304)

O ORHRENSRMNEEANNIER, REEEUERRE.

(d8~10) (d12~16)

L1

<

D
H
i
\
\
|
T
dn7
D
SR
B
[
I
|
I
I
|
d
A
;
dn7

2-C1 B2-812 2-C1 B2-0.12
B1 B1
B B
@ WERT (&%)
(B)31
g Ba 2-C1
q o -1 A8
C0.5
Bs B2 _[|_25 5
NeptaE: S—NE
g H  |=irms s | 28
pr e D M V |Vi| B | B1 [B2| B3 B4 D1 D2 | L | L1 ) (rpm) (9)
8 19 | M8x1.25 | 11 17112 |11 11 20 |.,15]16 [32]35 4 4 515 1900 32
0 22 - 35| 23 | ° 590 1700 50
10 | -0015 M10x1.25 | 1 1811 12 [ 1 5 5
BPY81 | 26 0x1.25 ) 13 8|13 w0087 5] w92 |18 36139 630 | 1500 | 70
BPY83 30 1.3 31.4 495 1350 98
12 o [z M12x1.5 | 14| 6 |21(15 |14]4.5 33.7] 9% 23.5(40 |44 6 6 510 1300 17
16 35 | M16x1.5 | 18 | 8 |26[19.5/18|5.5|1.6|"3"'°| 37 28.5|52(56.75| 8 680 1200 185

O BIF QR = 10km/hAT HOEE.

a B ¥ ® s
- TRE
BEYBI 2 EE—

WikERT  BPY83 | 10 | 22 FBNGT)
BPY81—d8 —D19




